Al
[ #icsmALTESD

BEMNRARAFERRNTHREE

1 EBXOBE

1) FEF DL IR
BRBER L —

2) FHEFOPTEM
HILETHAESAT E=k10766%1H1

3) fd
Z#5)% (8816)

2 EtEDEIE

igﬁﬁmﬁﬁm\%ﬁz(2020)@&%%@@Ekb\%ﬁ3(2021)$§@1$%k




3 EEVRAADCHKHHEICET 2HENLTBEEDERRKR
(PR EZHIB AR E T 255)

AT PR R (6-C0,) , IR (%)

EEE 3}
st e | TETEAREE S L E AR A I O FEAE
BEDRIZ g (o) e (LB bR (), FE : B ROXHIEEREL (o) )
34 : i
R4 N3 AR B

TR — 6 112 3, 026 2,774

EFECo2 ’ 50.0 55.0
JET L — 10, 690 7,102

EFECo2 Bl S 50.0 67.0

AA 0.0 0.0
Y r-f S — —

ke 0.0 0.0
IRERNEL A A 97 491 13,716 9, 876
EHEH BT ’ 50. 0 64. 0
BENE AT A
I UHEH R
%Eggaé‘I*w¥~ﬁﬁam;#i*wﬁ—ﬁﬁamt%Kmﬁﬁﬁ%éﬁféto

X HITEER (¢) = ((b)—(a)) / (a) X100

U HAZZ HI R AR & 3 25 5)

FLPR A D et FEVEAEFE L (e) = ((a) —(d) ) / (a) X 100

JFUAEEIC AW |
. H A Y -
. o < %@ﬁi}_g@ L i 31“@%?5%@%7‘%‘%3
{Eigjj%jjx FiE LB HT'% (b) L B ELAT FERE o ‘ Lol ',,‘E/ 53 D iia
R EiF (a) TE - B (o) (B AL ER (d), T : HIEEORTEUEEEEL (e) )
SERROTAE FE AR A T3
TRILF—
EJECo2 0.0 0.0
L F—
EJFECo2 0.0 0.0
e 0.0 0.0
AR — go =
FRfl %5 0.0 0.0
S
7B 0.0 0.0
BENR T A
PEH Bt 0.0 0.0
TR X—{HE
SR (FUHHR
k1) 0.0 0.0
ERTHT D
H 2R
% HIEEE (c) = ((b)-(a)) / (a) X100 Ik B D et FEUEAE L L (e) = ((a) - (d) ) / (a) X 100




4 SREMRFTZOHEHEOIIFIZ & S EAR T EHE ORI

y‘\

C>iﬁ%ﬁﬁEﬁXJﬁ#ﬂﬂﬁwﬁﬂﬁkﬁ%ﬁ#

5 Ik A B 70 BGHL 2

- RE IR E oD 1E S L
« T L _—XFIHO B R

1 |E& A B O BROMHEZ 1 %HE - IR A~ DT
o IREEBE O TE AT DR
« ARAd I O AT

2

3

4

O R RA A S 70 L PEHE O B 2 B 2 (BREE O 7 FH %)

M SRl

O Z DA Bk A

H H il i 5 HARHY 73 R A

X BRBTICALRE L2 BERR R B A 72 E2 SN TOIERCA L T2 S0y,




